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(Answer any six of the following questions)

Which of the following is the iterative method? CO1-R

(@) Gauss elimination method (b) Crout’s method

(c) Gauss — Jacobi method (d) Gauss Jordon

The root of the equation x> — 2x — 5 = 0 lies between CO1-R

(@ Oand1 (b) Land 2 (c) 2and 3 (d) 3and 4

The Error term in Adam — Bash forth Predictor formula is CO2-R
h h h

(a) % Aty, (b) % Ay, ©) % Aty, (d) None of the above

The Error of Runge kutta fourth order is CO2-R

() O (") (b) O (h*) (c) O (h°) (d) O (h)

In solving equation u, = a? u,, by crank- Nicholson method, to CO3-R

simplify method we take (iff as

OF (b) 2 (©1 (d)0

Hyperbolic equation is CO3-R

(8) duyx —3uyy +2Uuyy =0 (b) 4uyy —Buyy +2uyy =0
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Which of the following is the general form of Poisson’s equation?

CO4 -R

0%u | 0%u 0%u | 0%u
@) 5=t 52 = f(0y) b);z+5:=0

0%u 1 du 0%u 1 9%u
€5z =2 % o= 2 22
The Laplace equation i CO4 -R
(a) Hyperbolic (b) elliptic (c) parabolic (d) none of these
R(x) is orthogonal then CO5-R

1 1 1

(a) [ RO Fi()dx =0 ) j R&X) F(x)dx=0 © [ R(X)dx=0 (d) j Fi(x)dx =0

0 0
-1

Which method is called “Weighted residual method”
(a) Least square method (b) Collocation method
(c) Galerkin method

PART — B (3 x 8= 24 Marks)

(Answer any three of the following questions)

Use Faddeev’s method to find the eigen values of the matrix
2 -11

A=|-1 2 1| andhence find its inverse.
1 -1 2

Solve the boundary value problem xy> + y =0,y (1) =1 and y (1.25) =
1.3513 by shooting method. Take h = 0.25 and assume the initial
guesses for y’ (1) as 1.2 and 1.5.

Solve u;; = uy, up to t = 0.5 with a spacing of 0.1 subject to y (0,
t)=0,y(,1t) =0, yt(x,0) =0and y(x, 0) = 10 + x(1-x).

Solve the Poisson equation V2 u = -10(x* + y* +10) subject to the
condition u=0atx=0andx=3,u=3,u=0aty=0andu=1aty=3
for 0 < x < 3. Find the solution taking h = 1 with a square.

Solve the boundary value problem
Uy + uyy, = —1, X <1 |y|<landu=0on |x =1, |y|=1.
Use the Galerkin finite element method to determine the solution values

at the nodes (0,0), [%,0] and (%%) :

1

0

(d) Rayleigh-Ritz method
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